SkbrV BK

DM-lag IAF match 6

IMP o6ver faltet, 8 bord, 16 par. Antal brickor: 12.

Plac  Par Poéng Namn MID Klubb
1 12 2.49 Jan Gutenwik - Peter Juhlin 6302 23716  LUCK
2 1 1.88 Jan-Ake Ohlsson - Leif-Ake Nilsson 5957 11788  Ystads BS
3 5 1.30 Ronny Bengtzon - Lars Durlow 1107 6337 Malmo BK
4 11 1.12 Nils Soderberg - Tommy Jeppsson 12409 6314 Hoors BK
5 8 0.88 Hakan Litsegard - Staffan Essén 5536 5529  LUCK
6 2 0.86 Mats Pettersson - Borje Dahlberg 5587 4744 BK Lavec - Malm6 BK
7 14 0.79 Andreas Kdnyves - Rolf Bengtsson 4590 4614 LUCK - BK Lavec
8 15 0.52 Osten Svantesson - Hans Olsson 5765 13278  Videdals BK - Malmo BK
9 7 -0.52 Lars-Ake Nilsson - Viktor Andréasson 12667 89902  Hassleholms BK - H66rs BK
10 6 -0.79 Martin Johnsson - Jérgen Andersson 13345 22136  Landskrona BK
11 10 -0.86 Niklas Andrén - Torsten Eriksson 1623 493 Ystads BS
12 16 -0.88 UIf Bogren - Jan Nilsson 486 4501 Ho0rs BK
13 3 -1.12 Bengt Emanuelsson - Anders Freij 4620 5548 LUCK
14 13 -1.30 Christian Leo - Peter Akesson 577 545 Landskrona BK
15 9 -1.88 Leif Olsson - Bjorn Sanzén 5891 5900 BK Lavec
16 4 -2.49 Fredrik Wickstrém - Bert Jehpsson 4496 5541 Hoors BK
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
3 11 24DO-1 &3 200 36.0 -36.0(1 9 240-2 ¢+A 100 27.0 -27.0|1 9 3NN+2 &9 660 6.0 -6.0
5 13 24 O-1 &3 100 150 -150(4 12 34 0-2 ¢+A 100 27.0 -27.0|3 11 3NN+2 a2 660 6.0 -6.0
1 9 INN= s A 90 140 -14.0(7 15 44 0-2 &5 100 27.0 -27.0|5 13 3NN+2 a2 660 6.0 -6.0
6 14 INN= vQ 90 140 -140(2 10 2v N-1 s A -50 -2.0 20(6 14 3NN+2 42 660 6.0 -6.0
8 16 INN-= s A 90 140 -140(6 14 3¢DS- aT -100 -12.0 12.0|4 12 3NN+1 &J 630 -2.0 2.0
2 10 14 0= v3 -80 -23.0 23.0|5 13 INV+1 v2 -120 -19.0 19.0(8 16 3NN+1 &J 630 -2.0 2.0
4 12 INO+1 5 -120 -28.0 28.0|3 11 3¢ S-3 aT -150 -240 24.0|2 10 3NN= a2 600 -10.0 10.0
7 15 2v N-2 46 -200 -42.0 42.0|8 16 2v N-3 *J -150 -240 24.0|7 15 3NN= &J 600 -10.0 10.0
16 Vast OV 17 Nord Ingen 18 Ost NS
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
1 9 4eV- ¢+A 100 71.0 -71.0|1 9 34 N= *J 140 24.0 -240|2 10 44 V= vT -420 36.0 -36.0
5 13 44 S-2 &K -100 49.0 -49.0|2 10 24 N+1 +J 140 240 -240|3 11 5¢ V+1 #A -420 36.0 -36.0
7 15 24 V+1 A -140 410 -41.0|8 16 24 N+1 ¢J 140 240 -240|8 16 5¢ O+1 &A -420 36.0 -36.0
2 10 5vDS-3 &A -500 -16.0 16.0(4 12 3#0-1 &K 50 30 -30(5 13 3NO+2 3 -460 28.0 -28.0
3 11 44 V= v4 -620 -36.0 36.0(5 13 4v O-1 &K 50 30 -30f(1 9 3NO+3 v6 -490 23.0 -23.0
4 12 44 V= &3 -620 -36.0 36.0|6 14 4v O-1 &K 50 30 -30(4 12 64 O= &A -920 -53.0 53.0
8 16 44 V= v4 -620 -36.0 36.0|7 15 4v V-1 &8 50 30 -30(6 14 64 O= &A -920 -53.0 53.0
6 14 3NO+1 T -630 -37.0 37.0|3 11 4¢vyDO= ©¥vA -590 -84.0 84.0|7 15 64 O= a4 -920 -53.0 53.0
19 Syd OV 20 Vast Alla 21 Nord NS
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poéng
1 9 24 N+1 v9 140 36.0 -36.0|1 9 44 N= &A 620 28.0 -28.0|5 13 64 O-3 &6 150 78.0 -78.0
2 10 1v S= &5 80 26.0 -26.0|5 13 44 N= &K 620 280 -28.0|1 9 44 0= &7 -420 -10.0 10.0
4 12 34 N-1 &2 -50 -5.0 50(6 14 44 N= &K 620 280 -28.0|2 10 44 O= &7 -420 -10.0 10.0
8 16 24 N-1 v9 -50 -5.0 50(7 15 44 N= &A 620 280 -28.0|3 11 44 O= &7 -420 -10.0 10.0
3 11 INO= a2 -90 -13.0 13.0(8 16 44 N= &A 620 28.0 -28.0|6 14 44 O= &7 -420 -10.0 10.0
5 13 INV= a2 -90 -13.0 13.0(3 11 5¢ V-4 &9 400 -13.0 13.0|7 15 4a4 V= &5 -420 -10.0 10.0
6 14 INV= a3 90 -13.0 13.0(2 10 34 N+1 &K 170 -49.0 49.0|8 16 44 O= &7 -420 -10.0 10.0
7 15 INV= a3 -90 -13.0 13.0(4 12 44 N-1 &K -100 -78.0 78.0|4 12 44 O+1 &7 -450 -18.0 18.0
22 Ost OV 23 Syd Alla 24 Vast Ingen
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
2 10 3NN+2 vQ 460 67.0 -67.0|5 13 34 N= ¢K 140 21.0 -21.0(2 10 3NO-1 vK 50 21.0 -21.0
8 16 3#S+2 4K 150 15,0 -15.0(3 11 3&N= ¢K 110 13.0 -13.0(3 11 3NV-1 vJ 50 21.0 -21.0
1 9 3«S+1 «A 130 11.0 -11.0(6 14 3&N-= ¢K 110 13.0 -130(6 14 3NO-1 46 50 21.0 -21.0
4 12 3#S+1 &K 130 11.0 -11.0(8 16 3&S= *2 110 13.0 -13.0(7 15 3NO-1 vK 50 21.0 -21.0
3 11 54S-1 &K -50 -26.0 26.0(2 10 INN= *K 90 80 -80|8 16 3NO-1 vK 50 21.0 -21.0
5 13 54 S-1 s K -50 -26.0 26.0(7 15 Pass -10.0 10.0(4 12 2vy N-1 &2 -50 -1.0 1.0
6 14 54 S-1 s A -50 -26.0 26.0(1 9 44 N-1 *+K -100 -29.0 29.0|1 9 24DS-2 &K -300 -43.0 43.0
7 15 54 N-1 &6 -50 -26.0 26.0(4 12 34 N-1 *K -100 -29.0 29.0|5 13 3NV= +6 -400 -61.0 61.0
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